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im ze % = lim ??7 = ...
ot T— 00 T— 00
(a) —
(b)e_x
(c) e”

(d) none of the above
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lim (sinxz + cos.cc)l/m — exp

x—0T

(@) (1/x) [In (sinx 4+ cosx)]

(b) (In(sinx) + |n(COSm))1/$

(c) (1/x)(In(sinxz) 4+ In(cosx))

(d) none of the above
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NI+ @)D ~ 77
provided f(xz) — O
(a) 0 r— a

(b) In[f ()]
(©) 1+ [f(=)]

(d) none of the above
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n(1 4+ (3/n)) ~ 77

n — oo

(a) 1/n?

(b)1

(c)3/n

(d) none of the above
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n(1+ (3/n)) ~ _3/n

n — oo

im n[In(1 4 (3/n))] = 77

n— o0

(a) O

(b) 3

(€) o0

(d) none of the above
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In(1 4+ 5x) ~ 777
T

(a) 42

(b) bx

()1

(d) none of the above
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In(1 4+ 5z + 422) o~ 77

(a) 42

(b) bx

()1

(d) none of the above
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% [((IN8)(sin3)] = 77 \

(a) (1/8)(sin3) + (In 8)(cos 3)

(b) 0

(c) (1/8)(cos3)

(d) none of the above
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% [((In5)x] = 77

(a)In5

(b) /5
(c)O

(d) none of the above
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7 [csc O]

(a) — [csc ] [cot O] [9}

(b) — [csc O] [cot O]
(c) — {csc2 9} [9]

(d) none of the above
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(@) (d/dz)(In|f(z)])
(0) [f'(@)]/1f ()]

Principle of log diff:

(€) [f (@)]l(d/dx)(In | f(z)])]

(d) none of the above

fl(z) =77
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(1 4 o2ye-1[ ¢ .2 d X
() a(1 + 22771 |2 (14 22)| (1 442y

d

(B)[(1 + )| (1n (1 +32))|

(c) z(2z)*~ 1

(d) none of the above

0% 0% 0% 0%

N Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

16

0of 5 Topic 0400 10 pts




% [Ia ((:c2 + 4 — 1)1/3)]

1/ 2244 \2/3
(a)g(:c2—|—4a:—1)
4 \1/3
(b)(2—|-433—1)
2x + 4
(c )3 2+ 4x — 1

(d) none of the above
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T T—r 00
— COSx
(a) ==
COSx
(b) <

(c)I'Hopital does not apply.

(d)none of the above
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(e)(1) — (z)(e”)

(a) lim_ T
(b) lim (x)(ex)egm(em)(l)
(c) lim (e*)(1) —eéf)(%w—l)

(d) none of the above
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€ZT
, e! — 1 —x
Iim = 77

z—0 :182

et —1
a) lim
( )az—>0 2T

(b) oo

(c) DNE

(d) none of the above
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im < T — |im & — 77
x—0 2 "H2x—>0 2z
et
(@) lim >
_ [22][e*] — [e* — 1][2]
(b) alsino 42
(c) DNE

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

21

0of 5 Topic 0410 O pts




(a) o<
OF

(c) DNE

(d) none of the above
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lim 5 = 77
r—0

(a) o0

et —1

(b) Iim

x—0

(c) DNE

(d) none of the above
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lim = 77
z—0 :U3
(a) oo
et — 1
1M
(b) z—0 3332

(c) DNE

(d) none of the above
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(d/dx)(e™=7)

(a) €—2x
(b)e™?

(c) 2e2%

(d) none of the above
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Correct answer: —Qe v |4 r=uErEEEE

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

00f5 Topic 0370 O pts *




SAVE THE

SESSION
DATA

RETURN TO
PRESENTATION



